

۱۸،۷۵ بازت جیبی کا صورت طالعہ را بخوان!

ایلا فیوینٹا

$$\Lambda \cos x + \tan^n x = 1 \rightarrow \Lambda \cos^n x + \tan^n x \rightarrow \Lambda \cos^n x = \frac{1}{\cos^n x} \quad .1$$

$$\frac{\cos^n x}{\cos^n x} \Lambda \cos^n x = 1 \rightarrow \cos^n x = \frac{1}{\Lambda} \rightarrow \cos x = \frac{1}{\sqrt[n]{\Lambda}} \rightarrow \left. \begin{array}{l} \frac{\pi}{n} \\ \frac{0\pi}{n} \end{array} \right\} \text{جواب}$$

$$0 \sin^2 x + 4 \cos^2 x = 2 \rightarrow \sin^2 x = 1 - \cos^2 x / \cos^2 x = 4 \cos^2 x \rightarrow \cos x \quad .2$$

$$0 - 0 \cos^2 x + \Lambda \cos^2 x - 4 \cos^2 x = 2 \rightarrow \Lambda \cos^2 x - 0 \cos^2 x - 4 \cos^2 x + 2 = 0$$

$$0 \rightarrow \Lambda - 0 - 4 + 2 = 2 \neq 0$$

$$\frac{\pi}{2} \rightarrow 2 \neq 0$$

$$\pi \rightarrow -\Lambda - 0 + 4 + 2 = 0 \checkmark$$

$$\frac{3\pi}{2} \rightarrow 2 \neq 0$$

$$-\pi \rightarrow -\Lambda - 0 + 4 + 2 = 0 \checkmark$$

$$\rightarrow \pi \text{ و } -\pi : \text{جواب}$$

$$\sin x (\gamma \cos^2 x + 1) = 1 \rightarrow \gamma \sin x = 1 - \sin^2 x + \sin x = 1 \quad .3$$

$$\gamma \sin x - 1 = \sin^2 x \rightarrow \sin^2 x = 1 \rightarrow x = \gamma k\pi + \frac{\pi}{2} \rightarrow x = \frac{\gamma k\pi}{2} + \frac{\pi}{4}$$

$$\left. \begin{array}{l} \frac{\pi}{4} \\ \frac{0\pi}{4} \\ \frac{9\pi}{4} = \frac{2\pi}{2} \end{array} \right\} \text{جواب}$$

$$\frac{\pi}{4} + \frac{0\pi}{4} + \frac{9\pi}{4} = \frac{10\pi}{4} = \frac{5\pi}{2}$$

$$\sin\left(\frac{\pi+2\pi}{p}\right) = \sin\left(\frac{\pi}{p} + \frac{\pi}{p}\right) = \cos \frac{\pi}{p}$$

ملاحظة

$$\sin\left(\frac{\pi+2\pi}{p}\right) = \cos\left(\frac{\pi+2\pi}{p}\right) = \cos \frac{\pi}{p} + \frac{1}{p} \sin \frac{\pi}{p}$$

$$\cos\left(\frac{\pi+2\pi}{p}\right) = \cos\left(\frac{\pi}{p} + \frac{\pi}{p}\right) = -\sin \frac{\pi}{p} - \frac{1}{p} \sin \frac{\pi}{p}$$

$$\frac{1}{\cos \frac{\pi}{p}} \left( \frac{p \sin \frac{\pi}{p} - 1}{p \sin \frac{\pi}{p}} \right) = 0$$

$$\sin \frac{\pi}{p} = \frac{1}{p} \rightarrow \begin{matrix} \frac{\pi}{p} = \frac{\pi}{4} \rightarrow \frac{\pi}{1p} \rightarrow \frac{0\pi}{1p} = \frac{\pi}{1p} = \frac{\pi}{2} \\ \frac{\pi}{p} = \frac{3\pi}{4} \rightarrow \frac{\pi}{1p} \rightarrow \frac{0\pi}{1p} = \frac{\pi}{1p} = \frac{\pi}{2} \end{matrix}$$

$$\tan \frac{\pi}{2} = \tan \frac{\pi}{p} = -\sqrt{p}$$

$$m(\cos \alpha - \sin \alpha) = \sqrt{4} \sin(\frac{\pi}{p}) \cdot \sqrt{4}$$

$$\cos \alpha - \sin \alpha = (\sin \alpha - \cos \alpha) = \sqrt{p} \sin\left(\alpha - \frac{\pi}{p}\right) = \sqrt{p} \sin\left(\frac{\pi}{p} - \alpha\right)$$

$$\cos\left(\alpha + \frac{\pi}{p}\right) = \frac{1}{\sqrt{p}} \quad \cos \alpha = \frac{1}{\sqrt{p}} \rightarrow \cos \alpha = \frac{1}{\sqrt{p}} \rightarrow \cos^2 \alpha = \frac{1}{p} \rightarrow \cos \alpha = \frac{1}{\sqrt{p}} \rightarrow \frac{1}{\sqrt{p}} = \frac{1}{\sqrt{p}}$$

$$\cos\left(\frac{\pi}{p} + \frac{\pi}{p}\right) = \frac{1}{\sqrt{p}} \rightarrow \sin \frac{\pi}{p} = \frac{1}{\sqrt{p}} \rightarrow \sin^2 \frac{\pi}{p} = \frac{1}{p}$$

$$m \times \frac{\sqrt{p}}{\sqrt{p}} = \sqrt{4} \times \frac{1}{\sqrt{p}} = \sqrt{4} \rightarrow m \times \frac{\sqrt{p}}{\sqrt{p}} = \sqrt{4}$$

$$\frac{m \sqrt{4}}{p} = \sqrt{4} \rightarrow m \sqrt{4} = 4 \sqrt{4} \rightarrow m = 4$$

المفاتيح

$$\sin\left(x + \frac{\pi}{4}\right) \cos\left(x - \frac{\pi}{4}\right) = 1 \rightarrow \cos\left(x - \frac{\pi}{4}\right) = 1$$

4  
1, 75

$$\cos\left(x - \frac{\pi}{4}\right) = \frac{1}{\sqrt{2}} \rightarrow x - \frac{\pi}{4} = \frac{\pi}{4} \rightarrow x = \frac{\pi}{2}$$

$$\cos\left(x - \frac{\pi}{4}\right) = \frac{1}{\sqrt{2}} \rightarrow x - \frac{\pi}{4} = \frac{7\pi}{4} \rightarrow x = \frac{15\pi}{4}$$

$$\cos\left(x - \frac{\pi}{4}\right) = \frac{1}{\sqrt{2}} \rightarrow x - \frac{\pi}{4} = \frac{0\pi}{4} \rightarrow x = \frac{\pi}{4}$$

$$\cos\left(x - \frac{\pi}{4}\right) = \frac{1}{\sqrt{2}} \rightarrow x - \frac{\pi}{4} = \frac{2\pi}{4} \rightarrow x = \frac{5\pi}{4}$$

$$\cos\left(x - \frac{\pi}{4}\right) = \pm 1$$

$$x - \frac{\pi}{4} = k\pi \rightarrow x = k\pi + \frac{\pi}{4}$$

$$k=0, 1 \rightarrow x = \frac{\pi}{4}, \frac{5\pi}{4}$$

$$\sin x + \sqrt{2} \cos x = \sqrt{2} \rightarrow \sin x \frac{1}{\sqrt{2}} + \cos x = \frac{\sqrt{2}}{\sqrt{2}} = 1$$

$$\sin x \cos \frac{\pi}{4} + \cos x \sin \frac{\pi}{4} = \sin \frac{\pi}{4}$$

$$\sin\left(x + \frac{\pi}{4}\right) = \sin\left(\frac{\pi}{4}\right) \rightarrow x + \frac{\pi}{4} = \frac{\pi}{4} \rightarrow x = 0$$

$$x + \frac{\pi}{4} = \frac{3\pi}{4} \rightarrow x = \frac{\pi}{2}$$

$$x + \frac{\pi}{4} = \frac{5\pi}{4} \rightarrow x = \frac{9\pi}{4}$$

$$x + \frac{\pi}{4} = \frac{7\pi}{4} \rightarrow x = \frac{15\pi}{4}$$

$$\sin x \sin\left(\frac{\pi}{4} - x\right) = 1 \rightarrow -\sin x \cos x = 1 \rightarrow -\sin 2x = 1$$

$$-\cos 2x$$

$$\sin 2x = -\frac{1}{2}$$

$$\sin 2x = \sin\left(-\frac{\pi}{6}\right) \rightarrow 2x = -\frac{\pi}{6} \rightarrow x = -\frac{\pi}{12}$$

$$2x = \frac{7\pi}{6} \rightarrow x = \frac{7\pi}{12}$$

$$x = \frac{11\pi}{12}, \frac{19\pi}{12}$$

$$x = \frac{5\pi}{12}, \frac{13\pi}{12}$$

2





$$\cos\left(x - \frac{\pi}{4}\right) = \cos\left(\frac{\pi}{4} - x\right)$$

(4)

$$\frac{\pi}{4} - x + x + \frac{\pi}{4} = \frac{\pi}{2} \rightarrow \cos\left(\frac{\pi}{4} - x\right) = \sin\left(x + \frac{\pi}{4}\right)$$

$$\sin^2\left(x + \frac{\pi}{4}\right) = 1 \rightarrow \sin\left(x + \frac{\pi}{4}\right) = \pm 1 \rightarrow x + \frac{\pi}{4} = k\pi + \frac{\pi}{4}$$

$$x = k\pi + \frac{\pi}{4} \xrightarrow{0 \leq x < 2\pi} k \geq 0 \rightarrow x = \frac{\pi}{4}, \quad k < 1, \quad x = \frac{5\pi}{4}$$

معادله ۲ جواب در بازه دارد